Ti285E BEESKRHFRIAOBE SEHE ASORE

=ED) & FH Ag He : %o PEUNGE
4/21| FRR2TE ERHE 167,509
5/6|0OB&#& PR 4#14% 3,000 170,509
5/12|PALKR—LN =" A Y-LYAN Y= - 8,424 162,085 O
oA F 304 432 161,653
5/13|0OBRE BE45 SHi% 3,000 164,653
OB&#E iiAK 5Hi4% 6,000 170,653
5/20|0B=& & 94 3,000 173,653
5/30| L5 EFHLE - LKD) 46,000 127,653
6/14|OB=E& #4& 10814 3,000 130,653
7/1|0B=E Hik 6Hi4 3,000 133,653
7/3|0B=& =ik 3H4L 3,000 136,653
7/7110B=&E KE 8Hi% 5,000 141,653
10/17|0B=& RS S584% 3,000 144,653
5/10|OB=#& S5 8HIL(29FE) 3,000 147,653
6/6|FRE XY 66,640 214,293




FRi28EE BEEERETHRIMOBE REHE HE

=ED) & FH Ag He : %o PEUNEE
5/21|#a==%& #HFE 5000X 10A 50,000 50,000
HBetrBER 45,000 5,000
OB=E ## 3Hi% 3,000 8,000
=8 A& 10,000 18,000
B4R - Z EH6HA4 6000 x 2 12,000 30,000
KiththA7HA4E A -BEOSHALE 12,000 42,000
tiB10 HE 11 7 1684 9,000 51,000
EEE2288 4 3,000 54,000
5/30|FEE KYBIZFHL 46,000 100,000
6/1|34bA =2 = BWEZIZK-IEE 45,360 54,640 O
6/18|0B=#& RIL 484 10,000 64,640
10/9|0B=& FiAF THLE 3,000 67,640
FiT W< F7EA 10,000 77,640
11/13| aAVRE€LVEFF<F 78 2,000 79,640
OVUREEKYFTHREH 2,000 81,640
2/ R = 67,500 149,140
HESKEHR 52,500 96,640 O
3/4|A0E Tk BiRE 50,000 46,640
5/28|40F 2 FIRK AR E3000X 11A 33,000 79,640
FLUHK 1000 % 13N 13,000 66,640
6/6|TAE @RI 66,640 0
272,500 272,500 0




